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PHILOSOPHY (General)

Paper Code : I -A & B
[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 50 Time : One Hour
Choose the correct answer.

Each question carries 1 mark.

1. Which one of the following included purusartha catustaya in Indian Philosophy ?
(A) Adharma
(B) Dharma
(C) Pratyaksa
(D) None of the above

> | SRSl Wi fsfie @b e veBrE wrwsfe —
(A) st
(B) &
(ORI
(D) THGER (IR 7
2. Which of the following schools of Indian Philosophy believe in God.
(A) Bauddha
(B) Jaina
(C) Carvaka
(D) None of the above
3| OReR wta RS =il Wt @b e e —
A) @&
(B) &=
(C) vrfiw
(D) AR 7
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3. According to Carvaka only Pramana is —
(A) Pratyaksa
(B) Anuman

(C) Upaman

(D) Sabda

© | SRIFME o GFIG ewe 257 —
(A) oor=F
(B) St
(C) Tome
(D) ==
4. ‘Saptabhanginaya’ is a doctrine of —
(A) Buddhism
(B) Jainism
(C) Both (A) & (B)
(D) None of these
8 | AUSH T ©OGH —
(A) @
(B) CewnE
(©) (A) 9% (B) Terzaz
(D) (FICAME T
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5. Carvaka believe in —
(A) Moksa
(B) Re-birth
(C) Kindness
(D) Living with lust and hell

@ | BImael gt e —
(A) I
(B) “frerm
(C) v
(D) FEERPNE G-Il

6. Buddhist theory regarding the self is known as —
(A) Atmavada
(B) Anatmavada
(C) Advaitavada
(D) §ﬁnyav§da
Y| (@ = SRS o & S wfee ?
(A) SIS<m
(B) SIre@M™
(C) Sitmedam
(D) *rm
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7. Which one of the following is found in Jaina Philosophy —
(A) §ﬁnyavﬁda
(B) Syadvada
(C) Ksanikatavada
(D) None of the above

q | fsfere wgafed st (@0 (St SiEfie 2
(A) *[Tam
(B) >
(C) =laFoRm
(D) THATIF (OB 7

8. Which one of the following is not correctly match ?

(A) Swabhabvada — Carvaka
(B) Anatmavada —Buddhism
(C) Syadvada —Jainism
(D) Stinyavada —Sarmkhya
v | sl @Eb geresi Awfre w92
(A) TORIM-5E
(B) SHISEM-(JTa
(C) IWRM-Cere
(D) *[TaM-A1RA
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9. Which one of the following is the first Noble Truth in Buddhism?
(A) Life is full of happiness
(B) Life is full of misery
(C) There is cause behind happiness and misery
(D) None of the above

> | TNl el Wy @G (et d2s o) ?
(A) SR S
(B) G e
(C) W @GR 7eTF (2R FIF B[TR
(D) THATIF (OB 7

10. According to Buddha, ‘avidya’ is associated with —
(A) Present life
(B) Past life
(C) Future life
(D) All the above

S0 | IR WO Sl BT Ast FAfee 2
(A) wrSTe &R
(B) T G+t
(C) SR G
(D) Tt 703
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11. Which of the following school of Indian philosophy is ‘Astika’?
(A) Bauddha
(B) Jaina
(C) Carvaka

(D) Advaitavedanta

s | RS @ SRR wiHa 2w oifke 2
(A) =
(B) C&=
(C) v
(D) S@eCvg

12. According to Nairatmavada —
(A) There is soul
(B) There is no soul
(C) There is no permanent self

(D) None of these

S| (TIRM SIS —
(A) Sl TR
(B) w4l (%
(C) =3 oIl (1R
(D) CIAITE 77
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13. Which one of the following is correctly match?
(A) Samkhya —Gautama
(B) Yoga—Kanad
(C) Advaitavedanta — S’ankaracharya

(D) Mimamsa — Kapilmuni

vo | fEfeTRe (@Ft IR FEe 2
(A) ARG—CToN
B) @l — <A™
(C) SiaoamE — =AY
(D) ST — s
14. How many ‘Naya’—are accepted in Jaina Philosophy?
(A) Five types
(B) Six types
(C) Seven types
(D) None of these

8 | (G Wl F© Y T FPIF AN TR ?
(A) b e=iR
(B) = UM
(C) s 2=
(D) @IS =
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15. ‘Anekantavada’ is a core theory and philosophy of which one of the following?
(A) Buddhism
(B) Jainism
(C) Vedantaism
(D) None of these

o o

S€ | AR [HRIRS (S 7 TEMIEE o1 Todm ¢ ns og?
(A) (@& Tom
(B) (&« Toqm

(C) (T oM
(D) (FICTZ T
16. Which one of the following is not included in Buddha-Eightfold path.
(A) Samyak Vak
(B) Samyak Sankalpa
(C) Samyak smrti

(D) Samyak Siddhanta

su | e @Rl (T SR W Swee
(A) TUE AL
(B) < HFH
(C) 10 o
(D) % Frare
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17. What is ‘Pudgal’ in Jainism?
(A) Dharma
(B) Mind
(C) Matter

(D) Consciousness

S| TEAm(Ta s{mleT F 2
(A)
(B) =
(C) &©
(D) (oot
18. The concept of ‘Arhanta’ is accepted by —
(A) Advaita vedanta
(B) Buddha
(C) Jaina
(D) Yoga
St | SR Qe R wCH —
(A) SIS
(B) A=
(C) T
(D) ¢t
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19. According to Descartes the most fundamental character of matter is —
(A) Consciousness
(B) Extended
(C) Coloured
(D) None of these

39 | (T 0o Ted (e (AMey oo —

(A) el

(B) fgfe
(C) el
(D) @2«

20. According to Leibnitz — who is the creator of all monads?
(A) Man
(B) God
(C) Consciousness

(D) None of these

30 | FBIWETE IO (& e [T T3l 2

(A) ST

(B) T4

(C) el

D) ICAGE 7
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21. Who make the Copernican revolution in Philosophy?
(A) Copernicus
(B) Ptolemy
(C) Galileo
(D) Kant

25| W (F (e e e e
(A) @R
(B) Sratfst
(C) siiferfere
(D) T
22. Which of the following philosopher is not empiricist?
(A) Locke
(B) Berkeley
(C) Hume
(D) Descartes

(eSS o)

33| fefefie wefaema sitw & SfeweRii w2

(A) 7
(B) <ffer
(C) f&ew
(D) cT=ls
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23. Who is called as the father of modern western Philosophy?
(A) Descartes
(B) Spinoza
(C) Leibnitz
(D) Hume
29 | Y[ HAHGIS] THCA Gl (F 2
(A) (G316
(B) Fitaret
(C) =zafe
(D) fee
24. Doctrine of pre-established harmony is proposed by —
(A) Berkeley
(B) Leibnitz
(C) Spinoza
(D) Kant

38| “sff-elfsfore Wemam afowl Fc —
(A) JAFCE
(B) szt
(C) Fitement
(D) FI%T
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25. ‘Reason and experience’—both are needed for getting knowledge —who
support this statement.

(A) Kant
(B) Hume
(C) Descartes
(D) Locke

3¢ | @I ACST T I @R Sfoee! Tz ARTH— (F @2 TG TALT FAT—
(A) 1%
(B) fzew
(C) (Tl
(D) =
26. ‘Esse est percipi’— said by —
(A) Locke
(B) Berkeley
(C) Hume
(D) None of them

Qv | ‘Y gors S’ — e —
(A) =@
(B) arfet
(C) &%
(D) (T
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27. In born ideas are known as —
(A) Simple ideas
(B) Original ideas
(C) Innate ideas

(D) Fictitious ideas

34| GATS RIS @ 2y —
(A) = Qe
(B) 31 «reft
(C) szere L=l
(D) SNTEF &Rl

28. ‘Epistemology’ discusses about —
(A) Origin and nature of knowledge
(B) Validity of knowledge
(C) Extent of knowledge
(D) All of the above

v | R S T —
(A) SR TG @ eFfs farm
(B) @It (el W
(C) wite gl fa
(D) Ttz (0
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29. ‘Monads are windowless” — who said this?
(A) Plato
(B) Aristotle
(C) Leibnitz
(D) Hegel

TS

35 | “esiEgefe sAarFes — Sfel wwa —
(A) C2ICT
(B) wnifeoee
(C) =Tgafee
(D) c=estet

30. “7 + 5 = 12’ this proposition according to Kant is —
(A) Analytic a-priori
(B) Synthetic a-posteriori
(C) Synthetic a-priori
(D) Analytic a posteriori

9o | 7 + 5 =12 JCHI MO @3 IBAL 26 —
(A) Reess sifoshm
(B) FKCHTF TG
(C) T sjFoshra
(D) s sz
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31. To solve the mind-body problem - Spinoza introduced —
(A) Identity theory
(B) Materialism
(C) Parallelism
(D) None of these

©Y | (M2 € W IIF RIS TP AN Goy Foitaien Sulike welb 2o —
(A) oMM
(B) Tream
(C) e
(D) IAIDE =
32. Metaphysics can be defined as —
(A) Study of Physics
(B) Study of Logic
(C) Theories of those things which are beyond
(D) None of these

o3 | SRKRWIE eI T 2 —
(A) smiRwy f2eT
B) IR o
(C) wfsiae @ FifFe Toam R
(D) @FI=HE =7
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33. According to Leibnitz, substance is —
(A) Dependent
(B) Self-active
(C) Beautiful

(D) Unconscious

0o | ARG ACe T T# —
INRECERIGH
(B) F(&w
(©) Iws
(D) S
34. Which of the following theories is also called scientific realism?
(A) Naive Realism
(B) Representative Realism
(C) Rationalism

(D) Empiricism

08 | FHF (@D (i IwIv JitNe «Afdbe?
(A) & IEIM
(B) =f ol awam

(C) Ifaam
(D) wfewerm
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35. ‘Cagito ergo sum’ — stands for —
(A) I think, therefore I am
(B) I walk, therefore I am
(C) Both (A) & (B)
(D) None of the above

9@ | ‘Cagito ergo sum’-43 =g 251 —
(A) =ifst ot 37, srows, wifi wifg
(B) wifyr %, wroug wify wiify
(€) (A) @ (B) Tewg
(D) Ttz (FICAIDE =
36. Who introduced the regularity theory of causality?
(A) Hegel
(B) Bradly
(C) Hume
(D) Leibnitz

Y | (F FRSGIT TIfFS oo FREAINOG 2T FCI 2
(A) CRealeT
(B) grefer
(C) f=ow
(D) =Tigafee
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37. Who made the distinction between primary and secondary quality?
(A) Locke
(B) Berkeley
(C) Descartes
(D) Spinoza
0| (F A QIR (MR TC&y 2/ PR —
(A) =1
(B) AT
(C) (wIr$
(D) Fitaren

38. Who refutes the innate idea?
(A) Descartes
(B) Locke
(C) Both (A) & (B)
(D) None of them

Ob | HRENO AT (F VST FI 2
(A) (TS
(B) =1
(€) (A) @ (B) T=g
(D) (T2 7
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39. Descartes wanted to give philosophy a stable character like —
(A) Logic
(B) Mathematics
(C) Chemistry
(D) All the above

o> | (TFE WHLF (I *NF Trol Joiefen o aifew ware Gl ?
(A) e
(B) «ifers g
(C) e Tl
(D) TR A0

40. A perceptual experience, which is not grounded in reality is called —
(A) Illusion
(B) Hallucination
(C) Delusion
(D) None of them

go| (T 2 SfveweR (I AW fofe (2 ©itF 0T —
(A) =¥ oo
(B) Sret ehors
(C) =it g
(D) FICE 7@
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41. Forgetting refers to the negative aspect of —
(A) Imagination
(B) Remembering
(C) Learning
(D) Thinking

83 | el FfRe i R o we —
(A) =l
(B) =l
(C) el
(D) o=

42. According to Freud, all our dreams are based on —
(A) Sexual desire

(B) Fear
(C) Creative thoughts

(D) None of these

83 | FCACTH ACO SN I T2 TR 897 o7 I ©f 7ol —
(A) e
(B) =¥
(C) =it ol
(D) @IAIDE =
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43. According to Thorndike learning is —
(A) Motivational learning
(B) Trial and error process

(C) Unconscious learning

(D) All the above

89 | AfTIFHA AC® i< 251 —
(A) RN S S 3
(B) 2T @I ol AN afera
(C) SIpen frre elfe
(D) THATER 7R

44. Full form of L.Q is —

(A) Internal Quality

(B) Intelligence Quotient
(C) Ideal Quality

(D) Ideal Quantity

88| I. Q-aF el ST 7o —
(A) STeTEIe SR

(B) o=
(C) A= e
(D) #Af5< =
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45. ‘S — R’ concept was first published by —
(A) Pavlov
(B) Watson
(C) William James
(D) Stout
8¢ | ‘S — R’ LRl 2= W& e —
(A) “iiresTe
(B) <A
(C) B2feram (e
(D) *51Es
46. According to Spearman what does - ‘g’ stands for?
(A) good ability

(B) great ability
(C) general ability

(D) None of these
8Y | AR TC© ‘g -aF oL 251 —
(A) ©iteT #fe
(B) 2 *If&
(C) MaEe =ife
(D) @AIDE T
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47. Learning, retention, recall and recognition are said to constitute —
(A) Memory
(B) Intelligence
(C) Intuition
(D) Imagination
8 | farwpel, e, e FAI AN @R eroyfoees fifere @A 2o —
(A) gfe
B) I+
(C) =@l
(D) =t
48. The word ‘Gestalt’ stands for —
(A) Whole
(B) Particular
(C) Both (A) & (B)
(D) None of these
8b | “(PBID” *<ive oY 7el —
(A) e
(B) fre=
(€) (A) @ (B) T=g
(D) @A T
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49. According to whom — ‘Psychology is the science of behaviour’—
(A) Guilford
(B) Watson
(C) Aristotle
(D) Woodworth

8b | F AC® NCAIRWI 2o ©b=e F>FR [Keaiq” —
(A) forercre
(B) G
(C) Suifooe
(D) Swemed

50. The word ‘Gestalt’ is a —
(A) Latin word
(B) German word
(C) Greek word
(D) None of these

@o | ‘(APHFEL” *WL GO —
(A) =TI ==
(B) Gifsftey *
(C) &% =1
(D) @FI=HE =7
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P-1 (1+1+1) G /20 (N)/ SUP
2020
PHILOSOPHY (General)

Paper Code : I - B
[New Syllabus]
(Supplementary)

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Section - I

Group-A
1. Answer any one question from the following : 15x1=15
(a) Critically discuss the common characteristics of Indian Philosophy. 15
(b) Give a critical estimate of Jaina theory of syadvada. 15

(c) Explain the Buddhist theory of Nairatmavada.lIs this theory consistent

with Karmavada? 10+5
Group-B

2. Answer any one question from the following : 15x1=15
(a) Critically discuss Kant’s critical theory in relation to origin of knowledge.

15

(b) Explain and examine the theory of parallelism about the relation between
mind and body. 10+5=15

(c) What are the different senses of the word ‘know’? Explain with examples.
State the relation between knowledge and belief in detail. 7+8=15
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Group-C

3. Answer any one question from the following : 15x1=15

(a) Critically discuss James-Lange theory of Emotion. 15

(b) Explain Freud’s theory of dream. 15

(c) Explain and examine Gestalt theory of perception. 10+5=15
Section - 11

Answer any eleven questions taking not more than four from each group.

5x11=55
Group-A

4. (a) Explain briefly the Jaina theory of substance. 5

(b) What are the main features of the ethics of Carvaka system? Discuss in

brief. 5

(c) Write a short note on origin of consciousness following Carvaka. 5

(d) Explain the third noble truth of Buddhism. 5

(e) Explain the Buddhist concept of ‘sat’. 5

(f) Explain eight fold noble-path of Buddhism in brief. 5

(g) What is ‘Triratna’ according to Jaina? Discuss in brief. 5

(h) What do you mean by Astika and Nastika in Indian Philosophy? 5
Group-B

5. (a) Write a short note on “esse est percipi.” 5

(b) Write a note on various conditions of propositional knowledge. 5

(c) Explain briefly the concept of innate idea following Descartes. 5

(d) Write a short note on Locke’s distinction between primary and secondary

qualities. 5

(e) What is the role of God in Berkeley’s philosophy? 5

(f) Describe the main tenets of Regularity theory of causation. 5
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(g) ‘God is all and all is God’ — What does Spinoza mean to say by this
statement? 5

(h) Bring out the important characteristics of Leibnitz’s monad. 5
Group-C

6. (a) Distinguish between illusion hallucination. 5

(b) What is introspection? Explain. 5

(c) What are the differences between sensation and perception? 5

(d) What is the full form of LQ.? How is intelligence measured? 2+3=5

(e) Discuss the factors of memory in brief. 5

(f) Explain briefly the arguments in favour of the existence of unconscious

mental states. 5
(g) Write a short note on trial and error method of learning. 5
(h) What is emotion? What are the characteristics of emotion? 2+3=5

BEqGoIG

AT T

et - &
> | fsferiie euafem Wt @ @A @3 dosE Ted wis SEXS=3¢
() CROR Wi A«Re (Bl AReE T | Se
() T&e AR ARG SICEAG F | NG
(o) (T TSR G | G2 AOAqW & PRI Ak T2 So+e

faem - ¢
3| e emafem W @ @Al @FH A Tk wis SEXS=3¢
(F) WA Teolfe T0F IO [EIRAM ARGE 0151 39| NG
(4) 2-3 FIFS SRR PRI 8 KoK 4| NG
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